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Important Points:

Principal is the money borrowed or lent.

Interest is the additional money given by the borrower to use the principal
for a certain period of time

Rate of interest is the percentage of the principal paid every year.
Time is the period for which the money is borrowed or lent.

Amount is the total money returned by the borrower to the lender after a
certain period of time. It is found by using Amount = Principal + Interest.

Pxnxr

Simple interest can be calculated by using , where P - Principal, r -

Rate of Interest, n - Time.

SIMPLE INTEREST WORK SHEET

Find the simple interest I 25,000 at 8% per annum for 3 years?
X 25,0006@ 8% au'ly ol 3 SLawiBEEndGd Hlallly HTem s ?
a.< 600 b. X 6,000 c.< 60,000 d.< 7,000
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Arjun borrowed a sum of X 5,000 from a bank at 5% per annum. Find the
amount to be paid at the end of three year.

TS @ bWl EHHEH e hEEG S% eally eisd I 5000ms Sl
QUIBMIT. cpeiiml  SenihHelent  (palsd Seuf OFshsd Geuswigul GCOTSHSHSH
CFHTENHEMUI  HITCWIH.

a.X 5,750 b.X 5,500 c.< 6,500 d. < 4,500

Shanti borrowed ¥ 6,000 from a Bank for 7 years 12% per annum. What
amount will clear off her debt?

gihd @ aumdwelmbE, oaibhE  12% ey  eisb I 6,000 7
DM BBEHHGHS SLOMHL QUBBTT eelley, 7 DWIBHT SPHFH DIAU] 61616166
LeIHMNHF OFVISHH ML HL 63T SH(HLD?

a.< 5,040 b. 311,040 c.X 11,050 d.< 4,530

Kumaravel has paid simple interest on a certain sum for 2 years at 10% per
annum is < 750. Find the sum.

GWIGaed @ GUIINI LS OFHTwsds& 10% aily aipd 2 SLeEiBser SIPHH
75083 SHeflaul QUITEF OFISHHEITED, DIFN6VDH HTCNIH.

a.< 3,500 b. < 3,900 c.< 4,000 d.< 3,750

Find the simple interest on X 35,000 at 9% per annum for 2 years?
% 35,0008 ouwmbibse 9% el gaisd SIanih OLiBGaEhdGHsH SHalall 1gamuld
BTG5,

a.< 6,300 b.X 6,700 c.X 6,500 d. < 6,900

Basha borrowed X 8,500 from a bank a particular rate of simple interest.
After 3 years, he paid I 11,050 to settle his debt. At what rate of interest he
borrowed the money?

T 9T  efeilied]  @h  euBdEuNedmbE @ GPHIILL Salally eaishded
8,500m& &L eamsll  QUBBTY. peim  epemihEe HPHH oeuy I 11,050mF
CFISHFHH B DML SHHTT 6lelled aUl 1y @IHID 6l6leI6TE]|?

a.5% b. 10% c.15% d. 20%

A sum of X 48,000 was lent out at simple interest at the end of 2 years and 3
months the total amount was X 55,560. Find the rate of interest per year.
sLMd auphslIl L oF0 < 48,0005 2 SLewiGser 3 THE STeVHHBGLI
et sefeu’ iy cpeold QUBLILLL GTssdh OFHTens I 55,560 o5 BHbHSHHI ereale,
Al HHmBHDH HT6wIH.

a.>% b. 6% c. 8% d. 7%

Which among the following rate of interest yields an interest of I 200 for the
principle % 2,000 for one year.
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CHENNAI

Heteupd  aul'lp  aispdHed oz X 2,000 oiFsg  @rmanihsd < 200
sl puIndd OBTHHBHIQUISTS BHEHGLD?
a.10% b. 20% c.5% d. 15%

Riya bought I 15,000 from a bank to buy a car at 10% simple interest. If she
paid X 9,000 as interest while clearing the loan, find the time for which the
loan was given.

fluim etesiueny A hSH aumbiGausBaTs X 15,000 10%safleu’ g eoam aissHde0
sLamall OuBpty. oeuy X 9,000ms sLemar (IpH@GD  HHOUTUNCD, UL IQUITEF
CFISHIH T 6l6lleD, HL M6l LIWSLBGSHH U HTeLHmBHDH Heidh ([Hdb.

a. 5 years b. 3 years c. 7 years d. 6 years

In simple interest, a sum of money doubles itself in 10 years. In how many

years it will get triple itself.

salaul lpuiled @ SiFeL 10 LewihHelled S(H  IDLBISTENT0 DbEH  OIF6V
(PDIOL_MIBTS OTBISMBEG DIV6VEH 2 UIHUSBEH 61HHEN6T DLe0I(HH6IT DLEGLD?

a. 15 years b. 20 years c. 30 years d. 35 years

In simple interest, a sum of money amounts to I 6,200 in 2 years and I 6,800
in 3 years. Find the rate of interest.

R OFTmsd @ GBILILL Saially  aiHdHdHe0 2 gmibseied I 6,200
aaia)b, 3 oewibsefled X 6,800 eaaud o wigdpE d@led ey eainHmH
BTG .

a.10% b. 12% c. 15% d. 8%

In a principal is getting doubled after 4 years, then calculate the rate of

interest.
PRI OFeUTeiH 4 SWIbBHeNe0 BTN DL BISTHMBH  61leL, QY aIHHmBHDH
SITE0T .

a. 20% b. 30% c.25% d.15%

A sum of X 46,000 was lent out at simple interest and at the end of 1 year and
9 months, the total amount was X 52,440. Find the rate of interest per year.
oiFe0 X 46,000 1 spewih 9 WIBE HTVSIHBGI LIBE Selau’ly cpeold
CwTHHdH CHTamauwins X 52,440815 2 WihHeHH oafed, allly aihHmEHd HTEwD.
a. 6% b. 7% c. 8% d.10%

A principal becomes X 10,050 at the rate of 10% in 5 years. Find the principal.
@T oIF0 oeigshe 10% ey alssHe 5 oenigsefsv I 10,0505
© WIHHH 61eN60, DIFN6VH HTENISH.

a. ¥ 3,350 b. < 3,700 c.< 6,700 d.< 6,000
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Radhika invested ¥ 5,000 for 2 years at 11% per annum. Find the amount
received by him at the end of 2 years.

grHsT  ewigB& 11% ey eaisddHed I 50008 2 iGsendd WHSH
CQFUIHBTT. GFeRILTD SLewNgaT (1palled Sialf OUBID OHTMHMU HT6ENISH.

a. 36,100 b. X 6,300 c.< 6,500 d.< 5,100

Find the amount due on < 7,500 at 8% per annum for 1 year 6 months.
X7,50083 8% ey aipd @@ QIHLID 6 ITHBIGEHHSTE CHTEDBMUI HT6NIH.
a.< 9400 b. ¥ 8400 c. < 8000 d. < 9000

Find the simple interest due on < 6,750 for 219-days at 10% per annum.
% 6,7506@ 219-pm sendE 10% ey aisd sl gpenul SHTewNis.
a.< 550 b. X 450 c. < 500 d. X 405

Rahul borrowed X 4,000 on 7t of June 2006 and returned it on 19t August
2006. Find the amount he paid, if the interest is calculated at 5% per annum.
IT&e0 7-6-2006 oiesim X 4,000 sLemsll QUBBD Diemd 19-8-2006 SiEIHBI H(HIDL
CF VIS 6T 5% eipd ey SEUSIHLOULLTD o] CFusHu  CFTms
616116)|61T6Y| ?

a. < 4000 b. ¥ 3600 c. < 4400 d. X 4040

A sum of money triples itself at 8% per annum over a certain time. Find the
number of years.

R GO L gFrein 8% ally aihsHed chHmen euBHE6rled eyl
LDL_MBIBTGLD 6T601d  HITCU0TIeH ?

a. 20 years b. 10 years c. 25 years d. 15 years

A certain sum of money amount to I 8,880 in 6 years and I 7,920 in 4 years
respectively. Find the rate percent.

@b GUIILL oFotaig 6 Samibseieo X 8,880 gymad 4 oemipaefen
7,920 su@ab TBIEBSHI 6Tafled Ul g OIHHMBD HTCWIS.

a.8% b. 10% c. 7% d. 9%

Sathya deposited I 6,000 in a bank and received I 7500 at the end of 5 years.
Find the rate of interest.

gswr X 6,000 om amdule GFaushd 5 eueipaeiea (pgalsd I 75008
QUBMTT 6TeNey, QUL LY AIHHMHD HTENISH.

a. 3% b. 5% c. 7% d.10%

Find the principal that earns I 250 as S.I. in Z%years at 10% per annum.
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10% eumpL ey eaigsdHed 2%@3)66&[@8561116{) I 250 e puimesd HHID DiF6e0

CFHTNHMUIDH HTEWIS.

a.< 500 b.X 750 c.<X 1000 d. <1500

A sum of money doubles itself at 12% % per annum over a certain period of

time. Find the number of years.

o

%o opemih ey ainsHHed @ GHUIIL  emBaesd

AUl luTaEBgl.  LewIHH6I6  6T6mI6mHenHEMUID  HT6HISH.
a. 8 years b. 10 years c. 12 years d. 15 years

R OHTnHWITEIH 12%

Find amount on X 3,600 at 15% p.a. for 3 years and 9 months.
33,6005 15% a1y einsded 3 WIBH6T 9 WOTHHHO OUBLILGD OHTEDHMUI
BHIT60TH.

a.X 5,168 b.X 5,625 c.< 5,805 d.X 5,300

Find the principal that earns I 2,080 as S.1. S%in years at 16% p.a.

16% eully eigsHdHe0 3% ewiBseiled I 2,080 eulguited SHHD  DIF6D

CFHTNHMUISH HTEWTS.

a.< 5000 b. X 40,000 c. < 4000 d. < 14,000

Find the rate percent at which, a sum of money becomes %times in 2 years.

@I OIFTRIH 2 UL SHH 6D %LDLFEI&BF[&S HLGOWaNe0, DIHeT el galdHD

616116)|61T6Y| ?
a. 62.5% b. 72.5% c. 100% d. 50%

A man invested %of his capital at 7%, %at 8% and the remainder at 10%. If
his annual income is X 561, the capital is
@ LOONHET HAGH! CLPOHETHIH60 % LUBIens 7% el lg aidsHdHevid % ukiens 8%

alapsHFHed, WBapsienengd 10% eaissHed (WHeSh CFUISMIT.  DUFHl  eUHL
QIHDTARID X 561 6Tafled SIQUTHI CLPGOSHGIID.
a.< 5,400 b.< 6,000 c.X 6,600 d.< 7,200

Vaideesh deposits X 500 at the beginning of every month for 5 years in a post
office. If the rate of interest is 7.5%. Find the amount he will receive at the
end of 5 years.
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auged eeel] T 500, @aIGauT(h WTHH BT _SSHHMID PT DiehFeOBHH60 5
WBBEHHGF CFISHEBTT. el lg aiebd 7.5% ealed 5 YIBHT (LpIYaied
Slau] QUBID OFHTenD 616166167

a.< 35718.75 b.X 37518.75 c. 37581.75 d. 35817.75

The simple interest on a sum of money is % of the principal. Find the rate

percent and time if both are numerically equal.
QM GURUILL OxTmsuleT  SHeleUl lQuiTerdhl  DIF6dler % IDLBIGHEG  FLOID.

AL 19aIHIPD, QUIHL (LD 66wl HIT60 FwoTsh EHBSEUTH eIy aiHHmSU|LD
QUL SHEMHUD  FHT6UT.

a. 8%%, S%years b. 7%, 7 years

C. 7% %, Y%years d. 8%, 8 years

Mr. Thomas invested an amount of Rs. 13,900 divided in two different
schemes A and b at the simple interest rate of 14% p.a. and 11% p.a.
respectively. If the total amount; of simple interest earned in 2 years be Rs.
3508, what was the-amount invested in Scheme B ?)

HToe  elelalT  ap 13,900 = @yewiLmsll Ufss A wppd B asm &m
QaueiBouml FH L miselled (1pHeSG OGFwIBBIT. A HLsHe0 14% eupaishdhdeib,
B diLsde 11% ey oipd Oameasih s UG Gurgsl 2 aubLSHded
HwLBGWD al'lg ap 3508 aaied 'B" e SHLHHe0 1pHeSH OFulh GHTensd
RIBINIGIE

a. Rs 6400 b. Rs. 6500 c. Rs. 7200 d. Rs 7500
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SIMPLE INTEREST Work Sheet Answer Key
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